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1 problem = 1 point towards your warm up grade
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Greatest Common Factor

Factor the common factor out of each expression.

1) 948" 2 x-5

3) 45x7-25 41+

5) 56-35p 6) 50x-80y

7) Tab-350° ) 276 - 720)

9) 3a% + 60 10) 829 + 42

11) -5 - 50 - 15x* 12) 320° + 320° + 40n*

13) 20x* - 30x+ 30 14) 21p° +30p7 27

15) 28m° + 40w’ + 8 16) —10x* +20y* + 12x

17) 305° + Sab - 154° 18) 27y + 12+ 9)°

19) ~48a°6* - S6a°b - S6a°b 20) 30m° + 15mn* - 25

21) 2052 + 1552 + 3552 2) 3p+129- 1547

23) 505 +10)* + T0xz* 24) 30§25 50y — 10p2*x
25) 30gpr - Sgp + 50g 26) 285+ 145° + 355° + 76
27) 187° + 30° ~21n -9 28) 30a* +6° +27a° + 21a*
20) —40x" - 201" + 50x* - 502 30) 24x° —dx* + 120 + 8
31) 3y +9x7y+ 2+ 4 32) 400 + 40~ Ta -8
33) 32mn + dm*n + 12mn* + 16mn 34) ) - 105y -9 49

35) ~10y7 + 65" ~4y'°x - 8°x




